## IN-0001515



12/12/2018 09:00 AM | Travel to Vegas 12/13/2018 11:00 AM | Install Begins 12/14/2018 09:00 AM | Install Day 2 12/15/2018 08:00 AM | Install Day 3 12/15/2018 05:00 PM | Event 12/17/2018 09:00 AM | Strike 12/18/2018 09:00 AM | Travel to Los Angeles PO: Shipping Address: Private Residence Las Vegas Mindy Weiss 232 South Beverly Drive Suite 200 Beverly Hills, CA CA

Invoice Date:

Due Date: Upon Receipt

Salesperson: Angela Murelli

Description		Qtty	Price		Total
Additions					
	Vienna 6' Love Seat Light Grey	1	\$300.00	Т	\$300.00
	Vienna 8' Sofa Off White	1	\$450.00	Т	\$450.00
	NEW Glass Chrome "V" Accent Tables	3	\$200.00	Т	\$600.00
W. Control of the con	Tuxedo Accent Chair Chrome	4	\$85.00	Т	\$340.00
	Hollywood Ottoman WHITE (silver Base)	4	\$85.00	Т	\$340.00
	Accent Pillows	12	\$24.00	Т	\$288.00
	X-mas Ornament, Gold Reindeer With Stand Painted SILVER	2	\$350.00	Т	\$700.00
	Silver Sequin Drape - Stage Backdrop	1	\$950.00	Т	\$950.00
	Crystal Strands - for Garland	1	\$950.00	Т	\$950.00
			Total Additions		\$4,918.00
Inside House					
P	Venice Arm Chair Gold Fr/white Linen for santa photo opp	2	\$275.00	Т	\$550.00
	48"x48" Blue Silver Tablecloth for Carving Station	1	\$250.00	Т	\$250.00
	Custom Kitchen Island Facade channeled base with high gloss white top	1	\$6,200.00	Т	\$6,200.00

Description		Qtty	Price		Total
	Custom Dining Table Facade channeled base with high gloss white top	1	\$4,200.00	Т	\$4,200.00
			Total Inside House		\$11,200.00
Outside of Tents					
	Perimeter Drape for Outside of Main Tent for (2) sides of the 30'x90' tent	1	\$3,450.00	Т	\$3,450.00
	Ornament Garland for Entrance to Main Tent to frame the draping pullbacks	1	\$4,200.00	Т	\$4,200.00
		-	Total Outside of Tents		\$7,650.00
Gazebo					
	NEW Dining table 8'x48" silver fan and mirror	1	\$650.00	Т	\$650.00
	Ornament Garland for Entrances to Gazebo to frame the draping pullbacks	3	\$3,000.00	Т	\$9,000.00
	Perimeter Drape - White Sparkle Lame	1	\$4,500.00	Т	\$4,500.00
	Perimeter Valance - White Dupioni	1	\$450.00	Т	\$450.00
			Total Gaze	ebo	\$14,600.00
Fire Place Area					
	Vienna 6' Love Seat Off White	1	\$300.00	T	\$300.00
	Tuxedo Accent Chair Chrome	4	\$85.00	T	\$340.00
	Hollywood Ottoman WHITE (silver Base)	2	\$85.00	T	\$170.00
M	Tokyo Coffee Table glass and chrome	1	\$200.00	T	\$200.00
			Total Fire Place Area		\$1,010.00
Inside Main Ten	<u> </u>				
	Ceiling Drape - White Sparkle Lame for a 30'x90' Structure Tent	1	\$8,750.00	Т	\$8,750.00
	Perimeter Drape - White Sparkle Lame for a 30'x90' Structure Tent	1	\$6,900.00	Т	\$6,900.00
	Perimeter Valance - White Dupioni for a 30'x90' Structure Tent	1	\$775.00	Т	\$775.00

Description		Qtty	Price		Total
	Custom Ornament Ceiling 20'x10'W *Ornaments ranging in size from 12"D to 3"D *Assorted colors and designs	3	\$13,500.00	Т	\$40,500.00
	Pendant Lamp: Berlin Sphere Lg	18	\$90.00	Т	\$1,620.00
	Pendant Lamp: Berlin Sphere Sm	32	\$90.00	Т	\$2,880.00
	Sequin White Panel 8' X 4' for Stage Backdrop 12'W	3	\$400.00	Т	\$1,200.00
	Dj Booth - Tufted Silver Sparkle Linen	1	\$450.00	Т	\$450.00
	Round Dance Floor 28'D white high gloss	1	\$5,300.00	Т	\$5,300.00
	Round 16'D Monaco Bar ( 5 Pieces) white high gloss frame with tiered mirror accents	1	\$3,500.00	Т	\$3,500.00
	Barback: Round With 3 Plexy Tears	1	\$300.00	Т	\$300.00
-	Vienna 8' Sofa Off White	2	\$450.00	Т	\$900.00
	Vienna 8' Sofa Light Grey	2	\$450.00	Т	\$900.00
	Vienna 6' Love Seat Off White	1	\$300.00	Т	\$300.00
	Vienna 6' Love Seat Light Grey	1	\$300.00	Т	\$300.00
	Vienna Club Chair Off White	4	\$250.00	Т	\$1,000.00
	Tuxedo Accent Chair Chrome	4	\$85.00	Т	\$340.00
	Hollywood Ottoman WHITE (silver Base)	4	\$85.00	Т	\$340.00
	NEW: Glass Chrome "A" Coffee Tables	6	\$300.00	Т	\$1,800.00
	NEW: Glass Chrome "V" Side Tables	3	\$200.00	Т	\$600.00

Description		Qtty	Price		Total
	Ottoman Pod 18"D	12	\$45.00	Т	\$540.00
	Munich Barstool Light Grey W/chrome	8	\$45.00	T	\$360.00
	Munich Communal Table Chrome	2	\$200.00	T	\$400.00
	Accent Pillows	46	\$25.00	Т	\$1,150.00
			Total Inside Main Tent		\$81,105.00
Services					
	Installers: Stand By Added OT hours	10	\$275.00		\$2,750.00
	Installers: Travel Days (2)	10	\$600.00		\$6,000.00
	Installers: Install (3) Days	10	\$1,800.00		\$18,000.00
	Installers: Strike (1) Day	10	\$550.00		\$5,500.00
	Installers: Perdiem (7) Days	11	\$448.00		\$4,928.00
	Installers: Hotel Rooms (6) Nights Client to Provide	5	\$0.00		\$0.00
	Helpers: Install for (3) Days	2	\$900.00		\$1,800.00
	Helpers: Travel Days (2) for (3) Days	2	\$400.00		\$800.00
	Helpers: Perdiem for (5) Days	2	\$320.00		\$640.00
	Helpers: Hotel Rooms (2) for (5) Days; client to provide	1	\$0.00		\$0.00
	Trucking 24'L	5	\$1,200.00		\$6,000.00
	Supplies: Misc	1	\$1,500.00		\$1,500.00
	Dance Floor: Labor and Delivery	1	\$1,500.00		\$1,500.00
	Certification: Flame Proofing	1	\$1,250.00		\$1,250.00
	Dance Floor: Hotel Rooms (1) for (2) Nights; Client to provide	1	\$0.00		\$0.00
	Manager: Air Fare	1	\$550.00		\$550.00
	Manager: Onsite	1	\$2,000.00		\$2,000.00
	Manager: Layout and Design	1	\$1,200.00		\$1,200.00
	Rental Car Price Approx until confirmed	2	\$1,300.00		\$2,600.00

Please make checks payable to Revelry, Inc.

Note: Prior to deliveries and pick-ups all invoices must be pay in full

Please ready the contract and sign it

**Notes** 

**Total Products:** \$120,483.00

Total Labor/Services/Misc: \$57,018.00

Taxes (tax excempt): \$0.00

**Discounts:** (\$0.00)

**Total**: \$177,501.00

Payments: (\$177,501.00)

Balance: \$0.00